Summary  

Analysis

1 What is Charlie’s current wealth today?

Charlie’s current wealth today is $4,820,000, but only since we know with certainty that the next installment of his inheritance is coming. His current wealth combines the $2-million he holds in his hands now, with the present value of the $3-million ($2.82 mil.) that’s coming in a year, assuming the trustees have locked-in a 6% return the money.

While the concept of Charlie’s total wealth is well-taken in the context of this lesson, and while there’s no doubt he could probably leverage his stated net worth, the Protestant in me still has a hard time saying he’s worth any more than $2-million dollars.

2 How much could he spend today?

Well, just looking at the naked facts of the case, he could spend $5,000,000, but he’d be paying 6% interest to his lender for the privledge of having another 180-grand to blow. 

3 How much can he spend one year from today?

One year from today, he could also spend $5,000,000 - - but he wouldn’t incur the 6% interest charge he’s going to pay to get an advance on the 3-million he’s got coming.

--------

4 What is the optimal amount to be invested in the magazine?

5a Can Charlie buy the yacht?

5b If so, what is his best borrowing strategy?

-------

6a Charlie is all blue sky, should he make an investment in the magazine? How much should he borrow from the bank?

6b If he borrows the optimal amount, how much will his profit be?

7a What are year end asset?

7b Should Charlie sell yachts on the Internet?

7c What is a share of stock worth? 

7d How many shares will Charlie have to issue?

8 What would the total assets of the corporation be?

Recommendations

Implications

